INSTRUCTIONS:

Answer question one and any other Two

QUESTION ONE

a) Distinguish between the following concepts

i. Isoquant and isocost line. (4marks)

ii. Long run production and short run production function.  (4marks)

iii. Production possibility curve and iso revenue line. (4marks)

  b)  Explain the role of economies in agricultural production decisions. (6marks)

  c)  Explain the advantages and disadvantages of labour division in agriculture.      


(6marks)

   d)  Discuss the causes of diminishing marginal returns to a factor.   (6marks)

 QUESTION TWO

a) Discuss the role of agriculture in the economy.  (8marks)

b) Discuss the causes of Kenya's agricultural under- development.  (12marks)

QUESTION THREE

a) With the aid of diagram explain the least cost combination principle of inputs in agriculture.  (10marks)

b) Discuss the unique characteristics of agriculture in Kenya. (10marks)

QUESTION FOUR

a) Explain the stages of the law of variable proportions. Use diagrams.   (12marks)

b) Explain the different types of input combinations in agriculture. Use diagrams.  (8marks).

